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1.	
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2.	

																	***Hint:  You will have to use your calculator
																				To help solve an equation.
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3.	







4.    Let f  be the function defined by .  Which of the following is an equation of the line tangent

to the graph of f at the point where 
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5.     Let f be a differentiable function with and , and let g be the function defined b


.  Which of the following is an equation of the line tangent to the graph of g at the point where .
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																										OVER 
6.	Differentiate the following.  





[image: ]7.	Differentiate the following.  Do not simplify!  
														9b.	
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[image: ]8.	Find if 
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9a.	Evaluate:  


[image: ]











[bookmark: _GoBack]











oleObject2.bin

image6.png
Let £ be the function defined by f(x) = 4% — 5x + 3. Which of the following is an equation of the line tangent
to the graph of £ at the point where x = -1 ?

Ay y=7x-3
®) y=Tx+7
© y=Tx+11
D) y=-5x-1

@B) y=-5x-5
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Let f be a differentiable function with f(2) = 3 and f'(2) = -5, and let g be the function defined by
g(x) = xf(x). Which of the following is an equation of the line tangent to the graph of g at the point where
x=27
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(E) y-6=-10(x-2)
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Consider the graph of g(z) shown below.
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open interval (—3, 3) is g not differentiable?
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Forwhatvalues of z in the
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Let f(x)=2 +x. Find the value of % W atx=2
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